H £ 0l & AF & S

Al A

Hu: mEse=g
el XSz g"oe EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
sEEdl 26,446,589 28,654,418 N2,207,829
= 7,274,000
== 1,512,000
[Ea 17,660,589
s=E88d 2,593,503 1,740,000 853,503
= 1,684,000
< 168,000
[Ea 741,503
INR:rag=pl 2,593,503 1,740,000 853,503
= 1,684,000
== 168,000
o 741,503
FoXA HE(S0HE)(H22I1018) 464,000 465,000 A1,000
= 349,000
= 34,000
= 81,000
403 AXIEHHSA=201d 464,000 465,000 21,000
[ 349,000
= 34,000
Ea 81,000
02 SISOt =2 A P E A I 464,000 465,000 1,000
Od2el ME0tSA
464,000,000 *14] 464,000
[ 349,000
= 34,000
= 81,000
FHAXA HE(SHE)(SEI0HS) 409,000 408,000 1,000
[ 301,000
= 32,000
= 76,000
403 MR HHMSAHE01H 409,000 408,000 1,000
= 301,000
< 32,000
= 76,000
02 SIS0t 2 S A A 409,000 408,000 1,000
O=cl ME0tSAtY 409,000,000 x 14 409,000
= 301,000
< 32,000
[a 76,000
FHAXA HE(sHE) (ZF22I012) 452,000 452,000 0
= 335,000
< 35,000
[Ea 82,000




AN SEEH
By sEseEx
ol XSz E"oHe EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 452,000 452,000 0
= 335,000
== 35,000
[Ea 82,000
01 Al&H| 450,000 450,000 0
O2722 MSOISAIY
450,000,000 * 14 450,000
= 335,000
== 35,000
o 80,000
03 Al 20HHI 2,000 2,000 0
O2722] MSOISAIY A& 2]
2,000,000 *14] 2,000
FHAXA WE(S01E)(CHake]) 599,000 0 539,000
[ 444,000
S 46,000
= 109,000
401 Al HIZ 201 599,000 0 599,000
= 444,000
< 46,000
[Ea 109,000
01 Al&H| 597,000 0 597,000
Oobtate| M=0t=S A
597,000,000 x 14 597,000
= 444,000
< 46,000
[Ea 107,000
03 Al 20HHI 2,000 0 2,000
OODtate| MS0SAE AlE =20
2,000,000 %14 2,000
SERSAEEES NSEdaAY 90,000 0 90,000
[ 45,000
= 45,000
401 AlZHIZ S 0HHI 90,000 0 90,000
[ 45,000
[Ea 45,000
01 Al&HI 90,000 0 90,000
OSESEANLEE NASHBIAY
90,000,000 * 14 90,000
= 45,000
= 45,000
ANZHer2sH( ' 238 2t) 516,623 0 516,623
[ 210,000
= 21,000




SN SEHR
3 sEHSA
ol XSz E"oHe EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
[Ea 285,623
307 @20l & 516,623 0 516,623
[ 210,000
= 21,000
= 285,623
05 212t S 516,623 0 516,623
OANZAHZEANE A
516,623,000 x 14 516,623
[ 210,000
= 21,000
= 285,623
s=Eg sd 62,880 0 62,880
201 er2 3| 13,080 0 13,080
01 AtR2t2|HI 6,080 0 6,080
O=g=¢g 2,240
~SEEO RS AL
70,0002 %82 43| 2,240
ozl 3,840
SRS W ORI22K} 24
8,000 x4 120! 3,840
02 S3=gHl 7,000 0 7,000
OsE2= & HA 7,000
-—LESANENLAMY SER=
7,000,000 14 7,000
202 04l 5,800 0 5,800
01 =LHA LI 5,800 0 5,800
Os&EZEg R Jl20|
100,000 x4 x 122 4,800
OsEEAAMY Ol 1,000,000& 1,000
203 QP =AM 4,000 0 4,000
EESSEEESIT 4,000 0 4,000
OSEHAY ABZIADEAY|
4,000,000 4,000
401 AlEHIZ 2018 40,000 0 40,000
01 Al&H| 40,000 0 40,000
OLESAHENLAIY AIES R
40,000,000 40,000
sE FHE3 e 225,000 170,000 55,000
sE FHEE i 225,000 170,000 55,000
sELIEEH 225,000 170,000 55,000
402 2I2F X201 & 225,000 170,000 55,000
01 QI X2 AL E A (KEHITHE) 225,000 170,000 55,000
Os& ggdtl N3
1,500,000 150 225,000




AN SEEH
B =&
Cel: sSEZFFIIBAIE &5 EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
SENL 23,546,526 24,261,288 AT14,762
[ 5,590,000
= 1,344,000
= 16,612,526
SEIFVIENE &5 13,602,740 12,839,120 763,620
= 5,590,000
< 177,000
= 7,836,740
SEHL 2el 76,240 76,240
201 er23| 68,640 68,640
01 At2teltl 8,640 8,640
O=gHl 3,840
-SENE G OF22RA 24
8,000 x4 120! 3,840
Oo=2g+d< 4,800
-—LESAOE HEAME 293 HErE
120,000 x4 & x 102 4,800
2 s5=34l 60,000 0 60,000
OAE &8I Xl 60,000
-SAg& FA2cll
60,000,000& »14! 60,000
202 04| 7,600 7,600
01 =LHO LI 7,600 7,600
SENLHR J1=04]
100,000 x4 * 122 4,800
OLPsL0EINL ALY O
2,800,000& 2,800
sESSNELa('BEEA)(WES) 1,278,500 0 1,278,500
[ 895,000
= 89,500
Ea 294,000
401 AIZHIX R0HH 1,278,500 0 1,278,500
[ 895,000
= 89,500
= 294,000
01 Al&HI 1,274,500 0 1,274,500
Olds sESHANZdeAY
1,274,500,000& x 14 1,274,500
[ 895,000
== 89,500
= 290,000
03 A2 THYI 4,000 0 4,000
Ol E SESHANELE3AY 22U
4,000,000& *14] 4,000




AN SEEH

B =&

Cel: sSEZFFIIBAIE &5 EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
SESHUXELSHOIE('BEE ) (sEH) 150,000 150,000

= 105,000
== 10,500
[Ea 34,500
401 Al HIZL S 0HYI 150,000 150,000
= 105,000
=S 10,500
s 34,500
01 Al 150,000 150,000
Oz g8 sES4 U243 0t
150,000,000 * 14! 150,000
= 105,000
= 10,500
o 34,500
I ZMENE ZM('BHEA)(E2H) 279,000 279,000
= 195,000
= 19,500
o 64,500
401 Al HIZ S OHbI 279,000 279,000
[ 195,000
= 19,500
[Ea 64,500
01 AlZH| 279,000 279,000
OS2 JIEZMENE ZHAY
279,000,000 *14] 279,000
[ 195,000
= 19,500
= 64,500
I ZEENE M ('28HE ) (EXH) 243,300 243,300
[ 171,000
= 17,000
= 55,300
401 AlEHIZ S 0HbI 243,300 243,300
= 171,000
< 17,000
s 55,300
01 Al&H| 243,300 243,300
O JIZdEHE 2dAE
243,300,000 x 14 243,300
= 171,000
< 17,000
= 55,300
I ZHENE 2H('28EE ) (23Y) 279,000 279,000
= 195,000




AN SEEH
B =&
Cel: sSEZFFIIBAIE &5 EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
< 19,500
= 64,500
401 Al HIZL 01| 279,000 0 279,000
= 195,000
== 19,500
[Ea 64,500
01 Al&H| 279,000 0 279,000
OS3Y JIZdENE ZdAY
279,000,000 x14] 279,000
= 195,000
== 19,500
o 64,500
I ZMENE Z4('BHEA)(SLH) 300,000 0 300,000
= 210,000
== 21,000
s 69,000
401 AIEHIZ SR HYI 300,000 0 300,000
= 210,000
S 21,000
o 69,000
01 A28l 300,000 0 300,000
OSYH JZdENE TEAME
300,000,000& *14] 300,000
[ 210,000
= 21,000
[Ea 69,000
JI=MENE L (2EY) 1,267,000 1,429,000 /162,000
[ 887,000
[Ea 380,000
403 TR SHMSAH=01H 1,267,000 1,429,000 A162,000
= 887,000
= 380,000
02 SIS0t 2 S A AEHI 1,267,000 1,429,000 /162,000
OL&EH I ZMENE ZLAL (HIX)
1,267,000,000& 1,267,000
= 887,000
a 380,000
IZHENFELH(E2Y) 1,267,700 1,429,000 /161,300
[ 887,000
[Ea 380,700
401 AIEHIZ R HYI 1,267,700 1,429,000 A161,300
= 887,000
= 380,700
01 Al&H| 1,263,000 1,424,000 /161,000




SN SEH
PSR RETST
Cel: sSEZFFIIBAIE &5 EER=E)
SA - ZE - B2A(30) - HRAS of v e HIDE2
OZ20 J|ZMENY ZTHA (%)
1,263,000,000& » 14 1,263,000
= 887,000
Ea 376,000
03 AIESTHYI 4,700 5,000 A300
S JIZUENE ZgAME POl
4,700,000 * 14 4,700
JI=MEAE RS (OHEN) 1,267,000 1,429,000 A162,000
= 887,000
= 380,000
403 MR SHHMSAH=01H 1,267,000 1,429,000 A162,000
= 887,000
[Ea 380,000
02 SISOt =2 A P E A I 1,267,000 1,429,000 A162,000
OMNZH JI=MENE LAY (HS)
1,267,000,000& *14] 1,267,000
[ 887,000
s 380,000
IIZMEANEEE(REY) 1,654,000 1,401,000 253,000
= 1,158,000
= 496,000
403 MR SHHMSAH=01H 1,654,000 1,401,000 253,000
= 1,158,000
s 496,000
02 SISOt =2 A P E A I 1,654,000 1,401,000 253,000
OREH I ZMEAHE ZLMS(HX)
1,654,000,000& *14] 1,654,000
s 1,158,000
o 496,000
OFSRHSDI(CHAZR! ) (M EHALY) 300,000 200,000 100,000
401 Al HIZL 201 300,000 200,000 100,000
01 Al&HI 298,000 200,000 98,000
Otaj3el orEetEdl (A=)
298,000,000 x 14 298,000
03 AIE 2 THYI 2,000 0 2,000
Olai3el O=2t=)| At 201l
2,000,000 2,000
OtSRtSDI(E2e]) (HEALY) 300,000 200,000 100,000
401 AIEHIZ SR HYI 300,000 200,000 100,000
01 Al&HI 298,000 200,000 98,000
Og2el 0r=et=21(A=%)
298,000,000& *14] 298,000
03 Al 2 CHYI 2,000 0 2,000
OE2cl OtE2=SJ| AIg 20|
2,000,000 2,000




SN sEEAD

B =&

B2 SEEFIIBAL =5 (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
OrEHSII(2R0l12]) (M EALY) 300,000 200,000 100,000

401 AIEHIL 2] 300,000 200,000 100,000
01 A&l 298,000 200,000 98,000
SEIIEESICTE
298,000,000 x 14 298,000
03 AIESTHYI 2,000 0 2,000
O=0112] 0I=2=I] At 20U
2,000,000& 2,000
OSRtSII(TH=C) (M EHALY) 300,000 200,000 100,000
401 Al HIZL 201 300,000 200,000 100,000
01 Al&H| 298,000 200,000 98,000
SEELIIELESSIIETE)
298,000,000 x 14 298,000
03 A& =Tt 2,000 0 2,000
OtiZ2l DIZ9HED] ARl =ChY|
2,000,000 2,000
o=t %JH%’S D(HEAS) 200,000 200,000
401 AIEHIZ SR 0HYI 200,000 200,000
01 Al 200,000 200,000
OS2l DI2RSI| AL (A7)
200,000,000& x14] 200,000
OrSRrsSdI(2heHel) (M EtArY) 200,000 0 200,000
401 AlEHIZ 01| 200,000 200,000
01 Al&H| 200,000 200,000
Ozl OrSeED] At (A7)
200,000,000 x 14 200,000
OSRHSII(E X)) (M EHAL) 200,000 0 200,000
401 AIEHIZ SR OHYI 200,000 200,000
01 Al&HI 200,000 200,000
O&Xlel Or2eHSI] AFg (&)
200,000,000& *14] 200,000
oSt sdl(R222]) (M EAtY) 200,000 0 200,000
401 Al HIZ 2018 200,000 200,000
01 Al&HI 200,000 200,000
O=RZ2e| 0SeEI] At (A7)
200,000,000 x 14 200,000
OrsRFSDI(e §FZE|)( HEAY) 200,000 0 200,000
401 Al HIZ R 0HbI 200,000 200,000
01 A28l 200,000 200,000
Ofts2e] DISRFED] A (4157)
200,000,000& *14] 200,000
orEetsSII(2g2e]) (M EArY) 200,000 200,000
401 AlZHIZL SO 200,000 200,000
01 Al&HI 200,000 200,000




SN SEH
PSR RETST
Cel: sSEZFFIIBAIE &5 EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
Og2el OI2E0| A (A7)
200,000,000 » 14 200,000
JIEMEOIToH MBI (HEALY) 3,141,000 1,941,000 1,200,000
401 Al&HIZ S HY] 3,141,000 1,941,000 1,200,000
01 Al 3,133,000 1,985,000 1,198,000
OLBHSLMOIETNY MEE F|
3,133,000,000& *14] 3,133,000
03 Al 20HHI 8,000 6,000 2,000
O EHIAIY 20|
8,000,000& 8,000
sgogt 1= 1,078,230 1,220,080 141,850
=B S E 402,000 100,000 302,000
401 AIZHIX S0 402,000 100,000 302,000
01 AlZH| 400,000 100,000 300,000
O3 S¥XF JNAHZ A2 L F(400m)
100,000, 000& * 14 100,000
O8d WaXIZ JIHSE A2 2 Z(800m)
300,000,000& *14] 300,000
03 Al 20HYI 2,000 0 2,000
OJIAEZEZ SHEFAIYE RO
2,000,000& 2,000
JI=MEITRt (I AHSEAZ) (HEALY) 500,000 500,000
401 Al HIZ S OHbI 500,000 500,000
01 A28l 500,000 500,000
OXIE Of&IXI7 JIHSHH A2 EE(300m)
300,000,000& *14] 300,000
O82 433X 7 JIHSZ A2 HZ(800m)
100,000,000 *14] 100,000
OXIE OHEXIF JIHSHE &2 & (600m)
100,000,000 *14] 100,000
Bi==oH& 176,230 320,080 143,850
101 21AH| 11,550 11,100 450
04 JIZtN2Z2 XS E 11,550 11,100 450
Obi+=& =8 8H| 2e| Y
77,0002 *10Z %102 7,700
Obi=& Jts2clit A=Y
77,0002 x102H+53] 3,850
201 er23y| 112,680 85,480 27,200
01 AtR2t2|HI 95,000 68,200 26,800
Odgt==H| 95,000
-20[,0t8 =& ot&2e| el =28
5,000,000& =2 A +62 60,000
“AEA SN ASH s otd 2] Y =58
2,500,000 1 A+62 15,000
-l JIIAEBA =8
5,000,000 4 IH 2 20,000




SN sEEAD
ZE: SE
el sgolet 25 (Gt M)
2 - IE!
SN - BB SRI(SI) - NISAY - BES O]t e HlRE2
02 E32gHl 17,680 17,280 400
O2323 £ HMAl 10,000
==& &MIIR= 2,000,000 *5IH 2 10,000
OAEEH 2Kl 7,680
-2 2otAIE RXI22]
160,000 4 2+ 123 7,680
206 =8l 2,000 2,000
01 M=l 2,000 2,000
Ot 22l Mz 7Y
400,000 501 & 2,000
401 AIEHIZ 2018 50,000 221,500 A171,500
01 AlEHI 50,000 220,000 A170,000
Oti=E82Z 7l ¥ R=2 EHE &4
50,000,000 14! 50,000
e =dE2s 23 1,400,500 3,441,100 22,040,600
SHUCHEl S0 700,500 1,041,100 A340,600
201 L2 | 6,500 9,100 A2,600
01 Ar2eltl 6,500 9,100 A2,600
Oge=2| 6,500
=48 )| =2ZA =2
130,000 *500H 2 *13] 6,500
401 A& HIZLS0HY| 694,000 1,082,000 338,000
01 AlEHI 690,000 1,030,000 A340,000
22 3312(HY) s 018AIE &X
100,000,000 * 14 100,000
OB2 dgzel(Eg) sgss M8
60,000,000 14! 60,000
OsY Hae|(H2ZX &) =824 01SAIE
AXI 50,000,000 14 50,000
O832 ROl2I(ATANEY) s2ES 0IEAL
AX| 100,000,000 * 14 100,000
ONE 2Z2(EHB) =22 0I8AE &X
50,000,000 14! 50,000
ONE 3e(22) =2E=+ 0I8AE &X
50,000,000 14 50,000
OXE t=el(F2X &) sg88+ 018AIL
AX| 80,000,000 14! 80,000
OZ Nge(gE) sg8 H&
80,000,000 14! 80,000
O2Y s2el(g2) s+ &8
70,000,000 14 70,000
O Ndel(DatE) =884 018AE &X
50,000,000 * 14! 50,000
03 AIE =2 CHHI 4,000 2,000 2,000
O bl =01 20|
4,000,000& 4,000




SN SEH
B =E)fg
el N SPESs 35 (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
I ZMEOIHH(ARRESINY) (HEAIY) 700,000 700,000
401 Al HIZL 201 700,000 700,000
01 Al&HI 700,000 700,000
OJHE 20t=& 4X
700,000,000 * 14 700,000
=clAlE ZHl 7,465,056 6,760,988 704,068
s 1,167,000
s 6,298,056
=CIAIE HES(EX) 350,000 300,000 50,000
< 105,000
[Ea 245,000
401 Al HIZL 201 350,000 300,000 50,000
S 105,000
= 245,000
01 Al&HI 350,000 300,000 50,000
OZ& ZaHe|(EM=) === ZHI(300m)
100,000,000 *14] 100,000
= 30,000
o 70,000
ONE getel(bi4s) Sti+=2 F81(300m)
100,000,000 * 14! 100,000
< 30,000
= 70,000
O 2Xlel(H42¢4E) =2 ZHI(200m)
150,000,000 *14] 150,000
= 45,000
[a 105,000
=clAlE e+ 2,505,056 2,425,056 80,000
201 =3 4,0% 4,056 0
01 AtR2t2l] 4,096 4,056 0
Sl 3,840
~SoDlY REZ ORIZSR 24
8,000& x4 120 3,840
Os&sk= € MA 216
—=FMe 22l & sHI8HEH| PSEEDI
s 18,0003 =104~ 123 216
202 04| 6,000 6,000
o1 =LHolb| 6.000 6.000
sele Jl=ol|
100,000 ~4&x12& 4,800
O |BHEHIAIY =0
1,200,000 1,200
401 AIEHIZ SR THYI 2,145,000 1,315,000 830,000
01 Al&HI 2,140,000 1,310,000 830,000




2A:

BH: sENY
CHelr ==2lAlE EH EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
OS2 &4 (20km) 150,000,000 *14] 150,000
O8ti+=2 2=22(2km)
150,000,000 *14] 150,000
Ox=cINES (M=K, FLE S) FHE =4
50,000,000 »14! 50,000
Oold 2al1el(&als) 8+2 FHI(280m)
100,000,000 14 100,000
oz gdlel(0t=) =2 &Yl (400m)
150,000,000 *14] 150,000
OS2 <=32(#XI0H) === FHI(200m)
200,000,000& *14] 200,000
o2& gtel(xnel) 82 F4I(100m)
50,000, 000& » 14 50,000
Ozd ol41el(Ag) =2 ZHI(130m)
100,000,000 *14] 100,000
Ozd ga822l(+=82) =2 ZHI(150m)
60,000,000 * 14! 60,000
OZd K12l(HiLiel2) Bi=2 ZH1(300m)
100,000,000 *14] 100,000
o=z sdel(01s) 2 FdI(900m)
300,000,000 * 14 300,000
O2=z =del(=3E) =2 Z81(300m)
200,000,000& *14] 200,000
OM=E ZSe|(BE2) == ZHI1(200m)
150,000,000 *14] 150,000
OMZE g&HRl(Z012) =2 ZHI(110m)
80,000,000 *14] 80,000
O 34121(SH) === FdI(150m)
100,000,000 * 14! 100,000
OZ Sd12I(A-HE) =2 FHI(250m)
200,000,000 x 14 200,000
03 AIZ 2 THYI 5,000 5,000 0
FclAlE JHE=AE SO
5,000,000& 5,000
403 AXIEHHSAH=201H 350,000 1,100,000 A750,000
02 SI12S0ItH et =& 2 €A | 350,000 1,100,000 A750,000
Oud d=+8 dHl
250,000,000& *14] 250,000
083 g2l =21 |
100,000,000 *14] 100,000
FclAlE |Xl2el 2,172,000 2,008,932 163,068
201 fer= 3| 27,000 31,900 24,900
01 AtR2tc|HI 11,000 19,900 28,900
Oget=EH| 11,000
_ESMA BRI EY 442
1,000,000& #52 5,000
2t BPMQIAT OHNPIR) (HY 442
1,000,0002 6 6,000




2A:

I mEfe
CHelr ==2lAlE EH EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
02 S5=24g4l 16,000 12,000 4,000
O8&82= € HA 16,000
-dd dJIesS 2,000,000 +8IH 2= 16,000
307 gi2to| & 80,000 80,000
02 QB AANSEE R 80,000 80,000
04212 +2AE RTZ2 X
80,000,000 *14! 80,000
401 Al HIZL 201 1,765,000 1,555,000 210,000
01 Al&H| 1,760,000 1,550,000 210,000
O=clNLS (=T S) 22E=+
800,000,000 » 14 800,000
OM=Xl N Ol=&e
40,000,000& *32 120,000
O8+=2 +==2 &% 400,000,000 *14] 400,000
Ok= EJI8AIE &Hl
100,000,000 *14] 100,000
OzZd OtES=& 2 20 ==01H ZAHbI
100,000,000 *14] 100,000
OZd Mete| MEE 2 10HA HA AAIE A
50,000,000& » 14! 50,000
OBL NBY4Z & +H4H| T
100,000,000 14 100,000
OE=2 2¢cl gJ|et E
50,000,000 *14] 50,000
OBy 252 HEX FUAHAC 8
40,000,000& *14] 40,000
03 Al 20HHI 5,000 5,000 0
=CIAE |X2el 2l
5,000,000& 5,000
403 AXIEHMSA=0ld 300,000 300,000
02 SISOt =2 A P E A I 300,000 300,000
OsYHLDI|BAIE = AI2
300,000,000 *14] 300,000
28 & I FH 60,000 100,000 /40,000
[ 18,000
T 42,000
401 Al HIZL 201 60,000 100,000 240,000
= 18,000
s 42,000
01 Al&HI 60,000 100,000 40,000
O=23AIE Ho 60,000,000& » 14 60,000
= 18,000
Ea 42,000
e =PSRN 250,000 100,000 150,000
401 Al HIZ R 0HbI 250,000 100,000 150,000




SN SEH
mE: SEf
CHelr ==2lAlE EH EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
01 Al&HI 250,000 100,000 150,000
OE2 sdel HSK F+=AE 3
150,000,000 *14] 150,000
OXE t=el ==X F=Al2 Ebl
100,000,000 * 14! 100,000
M==Xl MeEHI(=H]) 18,000 17,000 1,000
< 5,000
= 13,000
401 Al HIZL 201 18,000 17,000 1,000
= 5,000
= 13,000
01 Al&H| 18,000 17,000 1,000
OXN==Xl M€ &tl 18,000,000 » 14 18,000
= 5,000
a 13,000
MRS L etM A 80,000 40,000 40,000
== 24,000
[Ea 56,000
401 AIEHIZ R 0HYI 80,000 40,000 40,000
< 24,000
= 56,000
01 Al&H| 80,000 40,000 40,000
OS2 A ZLotddid 229
40,000,000 *14] 40,000
= 12,000
Ea 28,000
O8& FAHKX LM 94
40,000,000& *14] 40,000
< 12,000
[Ea 28,000
FO =R S HUAAILT|BHEHI 2,030,000 1,740,000 290,000
= 1,015,000
o 1,015,000
401 AlZHIZ S 0HbI 2,030,000 1,540,000 490,000
= 1,015,000
[Ea 1,015,000
01 A28l 2,030,000 1,540,000 490,000
2 Gale|(0=2) =2 &81(180m)
200,000,000 *14] 200,000
== 100,000
[Ea 100,000
O22 ANgel sdE8+ 0IsAId £X
200,000,000 » 14 200,000
= 100,000




A sESRY
o sENY
CHelr ==2lAlE EH EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
i 100,000
O5Y ¥ sY84 0IBAIL £X
100,000,002 %14} 100,000
= 50,000
2 50,000
ORd Ddel(DM4S) SHI+=2 FHI(170m)
100,000,000 14} 100,000
== 50,000
i 50,000
ORd S&2(1S) =2 FHI(200m)
200,000,0002 %14} 200,000
= 100,000
2 100,000
O82 2222(4X) sZ&= 0I8AI4 &X
60,000,000 * 14! 60,000
== 30,000
= 30,000
OMZE Jt=12l(M2) =2 ZFHI(350m)
200,000,0002 %14} 200,000
[ 100,000
2 100,000
OX 2 Zskel(Z2018) gti+=2 &Jb|(750m)
300,000,000 14! 300,000
== 150,000
2 150,000
OXIE &3t2el(=0t) b= ZdI(150m)
120,000,002 %14} 120,000
= 60,000
2 60,000
OX 2 H&2el(Cret3) Sti+=2 X (400m)
250,000,000 14} 250,000
== 125,000
2 125,000
OZY ZA12I(2aHB) 42 FHI(160m)
100,000,0002 %14} 100,000
= 50,000
2 50,000
OZZ s&22/(Hol=) === ZH|(240m)
200,000,000 14} 200,000
== 100,000
2 100,000
HY YA (=R 81,560 48,810 32,750
ole2dl(sE=2l) 57,960 33,810 24,150
ol 2| 57,960 33,810 24,150
101 Q14| 57,960 33,810 24,150
01 B2 57,960 33,810 24,150
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